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TASK 1

Read the passage below about leadership and choose the correct answer, (A), (B), (C) or (D) for
each question (1-5).

Starting up a business: service and manufacturing sectors compared

Starting up a business is easier in the service sector than in manufacturing. A new manufacturer has to
invest heavily in factory premises, machinery and staff whereas a service sector start-up requires a much
smaller initial investment. However, these new service sector firms often take a long time to build up a
client base. They rely heavily on word of mouth to attract customers, a slow process that causes a few
uncomfortable months while waiting for customers to arrive. With few customers, cash flow is minimal,
but the start-up bank loan still has to be serviced, and there may be promotional costs like price cuts or
free samples.

In contrast, new manufacturers have to find more start-up capital. They take the risk of a high initial
investment only because they know there is a ready market for their product. On the other hand, the
service sector start-up is more speculative, based on the hope that people will want the service offered, so
payback may be seriously delayed. But service sector start-ups have one big advantage over
manufacturing. A restaurant, for example, could be set up in a few weeks, enough time to find premises,
buy equipment ‘off the shelf” and recruit staff. A manufacturer, on the other hand, needs about a year to
find suitable premises, install machinery and make deals with suppliers of materials. This delays the time
taken for cash inflows to start offsetting the start-up costs for the manufacture.

Cash flow is also influenced by the way demand may vary according to the time of year. Many
manufacturers face a seasonal pattern of demand for their product, but the seasonality is more acute for
many service sector firms. Manufacturers can produce stock before their seasonal peak, thus allowing
them to spread the pressure on the production process. But for service providers who make most of their
money during one peak period, seasonality increases the level of risk. If the peak season fails, e.g. ice
cream sales crash because of a cold summer, the whole business could collapse before the next peak
season.

Even more importantly, service providers have to respond instantly to changes in customer demand. Any
variation, whether caused by seasonal factors or changes in fashion, hits service providers immediately.
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TASK 3
Write your answer to the question below in 100-150 words in an appropriate style. Use your own words

as far as possible. Make sure your answer is well-structured, argumentative and logical.

If you had an opportunity to start your own business, what would it be? Why?
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